mH1/.8

N~
(9p]
N~
N
[ |
-
[ ] ] [ | [ |
[ | [ | | I I T !
< g
(&)
LLl c
o
=
(&)
>
=
(7]
(5]
o]
©
=
=
g
=2 :
o £
22
=R 5 5
m o
&
= =
o™
&
o
(@)
=3
N~
o\
>
O
c
(D]
<
(90]
2] e
(9\} o m
o S
o CM
< (D)
| B
O =
— |
al
=3
Lo nm
D =
€| 3
mm
=
>
c
L

W H17.8.25




[—+—tB —=—tus —— g

[—o—ts stz —Hus]

NUY D X9 oA
DNV ™D oA

~
- g ,
<
—
—
o
&
X7
S
—
—
o
o
~
~
—
I
0 _
IS
—
N
—
x
o
o
[Te]
[%2]
o
ISER-)
- | ™
Te) Y
H BN H 2 _
2 ] wigz 2z 8 uigz Lz
AT | w9z AT uiz 92
p w9z ST uMgz sz
o | wisz 7z uMsz vz
H p Wive €2 a wirz €2
| wiez 2z + uEz 2z
. N wigz 12 uMgz T2
2 1wz oz - uTz 02
+ | woz 61 z w0z 6T
L | wter g1 + weT 8T
| wigr 2t L] uMgT LT
1wt o uiT 9T
X4 UOT G uM9T ST
1 owst 91 uMsT ¥
s Wiy €T uipT €T
| wier et U¥ET 2T
1 wier 1 uMeT 1T
1w ot WNTT 0T
1 wior 6 wioT 6
ujg 8 uwye 8
wig L ug L
wy. 9 wy. 9
wio g uig g
wis v Louvg v
wiy € iy g
[ [ W%
wiz 1T wyz T 00
uwit 0 Ludt 0
~ © n ~ o™ o~ Ll o 1
(ey)
N 58 a
// N
o N < H
. |
— < 4
~
N »,
a !
°
j N
\ 3
4 //
N = a
L\
3
3 X p
7
To) =
I3\ ) )
°
.A S
L ©
i /
]
b
L « ~
— uio jf/
X °
i 2 © 3 8 9 3 { 3 © 9
— urdt




L]
[ | 17 3
289mm 6h
28 18 54 6 [ | 19 6
268mm/6h
2,940 =
3,860m3/s
. Gumbe | 3 w50 . H19I6
S33 45 13 00 - H Emfz 9
246 | & wf 19 7
S6 40 35 £ owop p 3 ol
E i LA ﬁ -
L "‘J E Iﬁﬂ:
100 - 5_4' E IW-
1/150 " JF m
289mm/6h 1 2 345 10 20 40 100 E:wn; 1000 0%|||| oo 17 3
28 18 w2 suemenaeed6 ||| | m
54 6 13
150
268mm/6h [ 19 6
H19
H20
48
6 (mm /s
28 9 150.6 1.78 3,750
34 8 183.4 1.46 3,590
36 6 156.4 1.71 3,540
2940 3,860m%/s P o N S
9 T aies T 1o | 3o N
63 8 1373 1.95 2,940 ‘\\\‘\\\)
5 9 147.8 181 3,300 ‘
7 5 140.3 1.91 3,860 m—




-

50 O
81
3 H17 51.6 - Hi6 17
81.2 51.6 [
1 30,000m3
mBOD 26mg | H18
mH16 H17 BOD H15
H17 51.6 BOD
81.2 51.6
253 JLE
- 06 ' TKEEE
: : [ | : EHE X
100% e 3 U7 WIS
——
80% | 1
= 30,000m3
51.6% mH18 BOD
40% 2.6mg |
15mg/I
20%
0%

H8 H9 H10 H11 H12 H13 H14 H15 H16 H17

BH16 H17 BOD o0 2 [~ "
H15 o) lw
BOD

H8 H9 H10 H11 H12 H13 H14 15 H16 H17
BOD

el =)

mEEI @
6% = 10 I
= - M
e . 5 L
O L ) £ -
37 7 Eﬂr}m-ﬂ H8 H9 H10 H11 H12 H13 H14 H15 H16 H17

0% 20% 40% 60% 80% 100%




